EARAROBEEIERT — 2 N— IBISH —F

201956A9H (B) 4mKR1B

mﬁiﬁ%ﬁ? hSZXE B1 4+5%3% \ (xi] 2 \ (Emm] — | & (/) 16000 THE
[x&<£] 1 % :500,000 ™  23#%:130,000 3#&:70,000 3  43#%:50,000 " ~ 53 :25,000 M
B ®RBE RESB MK MHE BF (F8) 4L (&%) | BBIEG | EOF |SIEH | AR | HE | NG FIR) / BE / £EHS
. LLAFER 41, -1-1- . — mREg— (BE)
1 4| TR K — L 4 3 55 1(4&)9 1-1-1-1 | 37.5 1 ?(1))3 by
LY ARKYIYRIR BYALEZARY—L RS
S BERE 143. -0 . — #E=— (KiR)
21505 HIA4¥<h 4 3 56_0 1(45)2 2-2-2-2 | 38.7 4 (4_631) i%?!):;i}&ﬁ%
R:Z2%— k770> BiILCF e EE 45035
0 e . $hAK%h . —3-4- — MEEZ (E)
3011 552554 vy 43 an 1.?‘3.9 3-3-4-4 | 39.0 7 (4_64(.; EHEEESUZ(
R:Z2bQrIUE—Y BiV-ZFqU—Z filllEve]
N> R 4 3 | HER 1:44.1 5-4-3-3 [39.5| — 2 501 | MIEERZ (B%RE)
s Y 3| N=FF xR 56.0 (1 1/4) Lo | (B) RE=K77—4
L:TZ7oTUVRX BIXxJFyINZT ZE—-RKIT7—L
c5 _ 4 3 | =RRE 1:44.3 6-6-6-6 [39.2| — 6 424 | HEE (KR)
5 7| FZ2aT—lb 54.0 (1 1/4) (13) | EHIET
¥ AN BN—H—X3I H—L— - TN Ty7—LBERS
- AR 144, e . — NEEE (BXE)
«cH > FLSKE—FX 4 3 e (11414/25) 4-5-5-5 | 39.4 5 (4+128) i b
LIANRZATNYG B:fi—%y hX&— ESlite
- RN FA 244, —7-7- . — =HEE (KR)
W =ovaromn %o | 225 e I R N
L:b—t>7— B:2XJIXPLZX (B) #A3—-RKL—va>aE77r
@ 1 — S —EBIEf
13=7r= 4,5,1,2,3,7,6
2a|=7r= 4,5,1,3,2,7,6
Jol=5r= 4,5,3,1,2,7,6
40—+ — 4,5,3,1,2,7,6
[ N3
BB 4 110 714K 4-5 380M B = 4-5 1,220 3EHE 1-4-5 2,640/
8 B 4 110M 1-4 370M B H 4-5 1,300 K31 4-5-1 7,620/
5 300H 1-5 1,160M

ABICOVWTRDTEEERROODE. TR LIV,




